The English word “C ‘ammunication” is derived from
which of the following words?

(Ay  Communis and € ‘smmunicare
(By  Communist and Commune

(Cy  Communism and Communalisim
(D Commumnion and Common sense

L tvne of communication that a teacher hins in the
The type of con i
i
£
Lo
(A} Interpersonal =

(R} Mass communication

(C)  Group communication

classroom is termed as -

M Face-to-face communication
Which of the following are essential for a good
classroom communication?

(A} Over emphasize on certain words

(By Use of gobbledygook

(C) Proper employment of redundancy

(D) Immediacy of feedback
For effective communication, whichiof these
commandments should one not follow? f

(A) Objective of communication f};

(B) Inadequate medium

(C) Clarty

(D) Adequate medium
Which of the following is not a communication
barrier?

(A) Linguistic barrier

(Bj Interpersonal barrier

(C) Financial barrier

(D) Organizational barrier
Which of the following can be considered as
psychological barriers to effective communication?
(a) Descriptive message
(bj Inattentiveness
{¢) Limited retention . 'Y

#
5,
-
¥
4.

g
V]
(d) Logical organisation M
Choose the correct answer from the options given
below -
(A} a,bonly
(B) b,conly
(C) ¢, donly
(D) d,aonly
Environmental barriers are same as
noise,

(A} physiological
(B) psychological
(C) physical

(D) sociological
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sfioft o aefrer frefaRas # W faw
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(A)
(B)
(C)
(D)

Fffr ol BT
e dliz e
rgfiive o e
aoyfer o DI

v 3w g wer ¥ Y S arel WoR @ yeR
&) T wE A 37

(A) urwfE

(B) oI HAY

(C) wqe =

(D)  HFHHA-ATHA AN

o BT wEArR @ fau frfafea # ¥ @
aegH 27

(A) & Il R IafIE AR A

(B) SRy M<Es

(C) 3aIftR® &1 Ifaa ISR

(D) ufafsear o1 qou=an

v yardl AR & fou 3 @ feE ey @
T T8l BT aTey?

(A) TOR & 32

(B) gIT ARIH

(©) usear

D) YA ARH

fr=fafed § & S te FaR grn T8 87
A) g qrEn

B) 9IRERF I

(©) o< s

(D) HISTE® TR

frafafea & ¥ 59 i gar @ foau
RRICENRECIE R 1T NI

(a) faaRoTTS |awr

(b) T

(c) NfAa raerRor

(d) TP Ho+

) faw U fwed § & W SR AT -
(A) ®adl a, b

(B) ®dd b, c

(C) @ad c,d

(D) ®ad d,a
Freferiaa 3 @ qafaRog am E -

A) TRRF TR

(B) I BERIIN

() HfaF ur

(D) |ESTEE ¥R

{PT.01*



10.

11.

12.

13

14.

15.
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By what method, we can know what the receiver
understood or got the message?
(A) Tmnsmiuing
(B)  Feedback
(C)  Message
(D) Listening
What do you understand by ‘Para-language’?
(A)  Face - expressions
(B)  Body - language
(C) A set of words to speak
D) A set of rules to write

What type of words should be used for effective
communication?

(A) Acronyms

(B) Technical

(C) Jargons

(D) Simple
Which of these is a main element of non-verbal
communication?

(A) The volume of the speaker

(B) Name of the speaker

(C) Name of the listener

(D)  Age of the speaker

Which of the following acts as a physical barrier to
communication?

(A} Loud music

(B) Huge gathering in small area
(C) Both of the above

(D) None of the above

Which of the following things should be kept into
mind to avoid semantic barriers in communication?
(A) Clarity and simplicity
(B)  Use familiar words and language
(C) Practice active listening
(D) All of the above
‘Glossophobia’ is a —
(A) Fear of public speaking
(B) Fear of leadership
(C) Fear of sound
(D) None of these

Which is the most convincing model to explain the
process of communication?

(A) Linear model

(B) Transactional model

(C) Interactional model

(D) Horizontal model
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16.  The central subject of communication is — 16. )
e (A) TP
(A) Sender
(B) Receiver (B) G
(C) Chﬂnﬂel (C) a—Ta“'_
(D) Message ) el

frafafag # 9 ®F 91 FaR Ui ¥ dar &
el @ &) BH By s 87

17 Which of the following indicates th%-: cprrecl 17.
X sequence of the clements of communication in the

e 4
communication process:

(A) Sender, Message. Channel, Receiver, (A) T, X, A, Uredet, gfifm
Feedback : ’
(B) Message, Channel, Recerver, Sender, (B) I, O, YTl Usd, yfafar
Feedback :
(C) Receiver, Sender, Message, Channel, (C) uTwIddl, U9d, I, A9, ufafran
Feedback i ' ‘ ;
(D) Message, Channel, Receiver, Sender, (D) e, A, gl v, yfafhar
© Feedback ;
18.  Our ‘dress-code’ is an €Xample Of ..............cccervrerereee 18. TR S B8 {69 Har $7 Semeor 27
communication. (A) wiRge
(A) verbal & B) s
(B) non verba g
(C) written : (€) ol
(D) spoken D) T
19.  Which of these is not a type of interview? 19. T 9 DI A—ARIHR BT GHR el 87
(A) Screening interview (A) IR s
(B) Stress interview B) T DR

(C) Music interview

R (C) G ATIHR
(D) Lunch interview .

(D) <9 ARITHR

20.  Readinf 188 i . eeimeprorioossiaspmserevenssassss process. 20. U Ud ufspar & —
(A) encoding : (A) T
(B) listening (B) g
(C) decoding (C) fEifET
(D) talking (D)  91d BT
21.  The term ‘grapevine’ is also known as - 21, UuErE 9y eiR R T Y ST o 87
(A) Downward communication (A) a&ﬁg@ﬁ BEIN
(B) Informal communication (B) 3FEIR® HeR
(C) Upward communication (C) e HaR
(D) Horizontal communication D) afgs "9urR
22.  The first multi-lingual news agency of Indja was - 22, - VRd DT BT HEHTGﬁ FHER Goidl T —
(A) Samachar (A)  HER
" b B ) ot
industan Samachar (©) fegzaM WHER

(D) Samachar Bharti (D)  FATER TR

23.  Communication with oneself is known as - 23, WU P W1 AR Bl HET A & —
(A) Group communication (A) E WER
(B) Grapevine communication (B) TUarsT HEmR
(C) Interpersonal communication (C) uRERE HAR
(D) Intrapersonal communication (D) ST FER
24.  Which is not a function of mass-media? 24, =TT § T oENER B BRI TE 87
(A) Interpretation (A) IRERS
(B) Socialization (B)  TATAIDGROT
(C) Entertainment ©) FARGH
(D) Education ' D) ﬁmﬂ
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25, e ¥, g AEr R -
(A) ARa® BIS

25,  In communication, the linguage is —
A)  the verbal code et
:B) inn‘;!pt‘!'b‘ol\fll (l” 5 ;ﬁiq{i;‘fi‘ = \[““
(C) the symbolic code (©) Lr(lﬂiijirmdv HIS
(D) the non verbal code )  ariRgd B 5 Py e R
26.  Which of these should be avoided for effective 26,  wrdy g1 @ ford gﬁe‘ q faae i
(A YA ugor fageraot

Hstening?

(A)  Pre-listening analysis ®) <y G
{(B) Team listening (C) gt greal qR AT
(€Y Focus on mere words
(M) Predicting ) gafgar "
27.  Which of these should be avoided in the effective  27.  w9d) ?ﬁ @ forg Rl &f
listening? (A)  UHEIET
(A) Concentration (B) B
(B) Patience C
(C) Discipline ED) ‘Eﬂ'ﬂ?‘
(D) Prejudices ) b
28.  Which of these is not a step in the listening process? 28, T I I ?fﬁ B! gfshar &I Th =R
(A) To stop talking 27
(B) Receiving (A) 91 9 HRAT
(C) Misinterpreting ?é)) s a5
(D) Responding D) -
29.  The 75% of your personality is based on - 29. U fdaed BT 75% JENRT & —
(A) Dressing (A) gﬁ:m
: (B) Education ®) P
(C) Physical feature ; (©) viRe Rreorar
(D) Confident speaking and effective listening (D) TR ¥ e T ) @ Y T
30.  Which of these is not a type of text for reading? 30. T Q B UG fou e &1 bR A ®?
{A) Reference material : b ;
(B) Scientific text (B) THIEN TS
(C) Technical text ©) s ue
(D) Chats ‘ (D) cw
31.  Listening is a process — 31. G U ufhar & —
(A) External A) I
(B) Internal ®B) srials
(C) Complete ©) et
(D) Incomplete : D) 5
32.  Which of these is not a barrier to listening? 32, T Y PEYr I HT U 9D T8 29
(A) Physical barrier (A)  TRRF T
(B) Cultural barrier (B) W -
EI()?; I\;gf:llst;c bz'imer (©) -
en barrier
i ®)  faRaw e
33.  Which of the following behaviouss are part of active 33, frefofag 4 @ PH-AT UF IIeR Ghpg T
listening? &1 few @7 o
(A) Maintain eye contact (A)  sitEt ¥ g ST T
(B) Nodding B) R fRamr
(C) Asking for clarification (©) R B R
(D) All of the above (D) Yeaer al)
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37.

38.

39.

40.

The selt — absorbed listener is -

(A)  who focuses on his needs and thoughts
(B) connecting w
©

)

ith the speaker
waiting patiently for understanding

who focuses on the ideas communicated by
others

What is the main benefit of reading a text?

(A To improve reading speed
B To improve memory retention
(©)  To improve others
M) To improve writing skills
Reading a text for detailed information is ~
(A) Extensive reading
(B)  Reading with fun
(©)  Process reading
(D) Intensive reading
Reading
an example of -
(A) Intensive reading
B) Scanning
(C) Extensive reading

(D) None of the above
An academic writer is expected to be -

(A) Objective

(B) Subjective
(C) Intelligent
(D) Creative

Pre writing means to —
(A) understand the topic
(B) draft the concluding paragraph
(C) draft the introductory paragraph
(D) edit the essay

Argumentative writing is also called ...................

writing.
(A) descriptive
(B) detailed
(C) analytical
(D) persuasive

your favourite magazine or short stories is

35.

36.

.

38.

39.

TN ST & —

(A) S oo Srewal el ey W e
Bfga war

B) wEHR ¥ eI

(©) W & oy Sdqde qdher gear 3

(D) vﬁqumﬁﬁfﬁaﬁmﬁwwﬁ
Bfege war 2

fordlY ute @1 vE @1 e i oy 20

(A) q@aﬁvﬁfﬁgmmﬁz%f%m

(B) W%uﬁaﬁmﬁgwmzﬁ%n

©) T & g & forg

(D) mmﬁﬁwm?ﬁﬁm

ﬁwqam%%v%m%—
A) foer sy

B) A gE

(© U & ufpy

@) TEd v

mmmagmmmwwmw
3

A) T uerE

B) i

©) afoery sarg
D) I wt

U ABEAD oRGd § T B B I A oy
7

A =
B) RS
©) e
D) EAEHE
qd oRgd HT qAAd ¥ —

A) favg & gazEr

(B) THIUA ATWVT B TAR AT
(C) uRIUTHF ATWT FAR BAT
(D) fEy quied &=

oyl dwEd & Hal oI @ .
(A) GuiETH®
B) fawga
(C) fasemvmes
(D) W&

- 4 3 o T e



